Bid Schedule A

Project No.: BR A 151(1)

Project Name: CATOOSA - OBED RIVER BRIDGE (POTTER FORD ROAD)

State: TN Opened at: Sterling, VA
County: CUMBERLAND By: Shirley Anderson

TENNESSEE WILDLIFE RESOURCES Date: 08/21/09

I certify that this Bid Tabulation accurately reflects the bids received and publicly opened for this solicitation.

Signed: Shirley Anderson

Title: Contract Specialist Date: 08/26/2009

Contract Awarded to: Charles Blalock & Sons, Inc.

Date:

Contractor	Bid Amount	Responsive
Charles Blalock & Sons, Inc. 1225 Parkway Sevierville, TN 37862	1,024,553.80	
Inland Construction & Equipment, In 309 East 11th Street Panama City, FL 32401	1,172,289.82	
Engineer's Estimate	780,000.00	

## TABULATION OF BIDS

Date: 08/21/20

Bid Schedule A

Project No.: BR A 151(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15101-0000	LPSM	MOBILIZATION			
Charle	s Blalock & Sons	s, Inc.	ALL	100,000.00	100,000.00
	Construction & I			134,470.91	134,470.91
ENGI	NEER'S ESTIMA	ATE		85,874.70	85,874.70
15201-0000	LPSM	CONSTRUCTION SUR	VEY AND STAKING		
Charle	s Blalock & Sons	s, Inc.	ALL	60,000.00	60,000.00
Inland	Construction & I	Equipment, In		16,133.51	16,133.51
ENGI	NEER'S ESTIMA	TE		19,000.00	19,000.00
15401-0000	LPSM	CONTRACTOR TESTI	NG		
Charle	s Blalock & Sons	s, Inc.	ALL	60,000.00	60,000.00
Inland	Construction & I	Equipment, In		22,511.87	22,511.87
ENGI	NEER'S ESTIMA	TE		19,000.00	19,000.00
15401-0000	LPSM	CONTRACTOR TESTI	NG (MALACOLOGIS	Γ)	
Charle	s Blalock & Sons	s, Inc.	ALL	12,000.00	12,000.00
Inland	Construction & I	Equipment, In		5,252.77	5,252.77
ENGI	NEER'S ESTIMA	TE		10,000.00	10,000.00
15702-2000	LPSM	SOIL EROSION CONT	ROL, TURBIDITY MO	ONITORING	
Charle	s Blalock & Sons	s, Inc.	ALL	8,000.00	8,000.00
Inland	Construction & I	Equipment, In		4,052.14	4,052.14
ENGI	NEER'S ESTIMA	TE		10,000.00	10,000.00
15703-2000	ACRE	SOIL EROSION CONT	ROL, TEMPORARY T	URF ESTABLISHMEN	NT
Charle	s Blalock & Sons	s, Inc.	0.05	15,000.00	750.00
Inland	Construction & I	Equipment, In		4,052.14	202.61
ENGI	NEER'S ESTIMA	TE		7,500.00	375.00
15705-0100	LNFT	SOIL EROSION CONT	ROL, SILT FENCE		
Charle	s Blalock & Sons		790	8.00	6,320.00
	Construction & 1			4.50	3,555.00
ENGI	NEER'S ESTIMA	TE		12.00	9,480.00
15705-1800	LNFT	SOIL EROSION CONT	ROL, TEMPORARY D	IVERSION BERM	
Charle	s Blalock & Sons	s, Inc.	244	375.00	91,500.00
				30.02	7,324.88
Inland	Construction & I	Equipment, in		30.02	7,324.00

Date: 08/21/20

## TABULATION OF BIDS

Bid Schedule A

Project No.: BR A 151(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15705-2000	LNFT	SOIL EROSION CONT	TROL, TURBIDITY BAI	RRIER	
Charl	es Blalock & Sons,	Inc.	240	100.00	24,000.00
Inland	d Construction & E	quipment, In		24.76	5,942.40
ENG	INEER'S ESTIMAT	TE		23.50	5,640.00
15706-0200	EACH	SOIL EROSION CONT	TROL, CHECK DAM		
Charl	es Blalock & Sons,	Inc.	6	3,000.00	18,000.00
Inland	d Construction & E	quipment, In		1,650.87	9,905.22
ENG	INEER'S ESTIMAT	TE		500.00	3,000.00
15706-2200	EACH	SOIL EROSION CONT	TROL, FILTER BAG		
Charl	es Blalock & Sons,	Inc.	2	4,000.00	8,000.00
Inland	d Construction & E	quipment, In		1,350.71	2,701.42
ENG	NEER'S ESTIMAT	TE		1,500.00	3,000.00
20103-0000	SQYD	CLEARING AND GRU	JBBING		
Charl	es Blalock & Sons,	Inc.	1,689	10.00	16,890.00
Inland	d Construction & E	quipment, In		2.25	3,800.25
ENG	INEER'S ESTIMAT	TE .		8.00	13,512.00
20304-1000	LPSM	REMOVAL OF STRUC	CTURES AND OBSTRU	ICTIONS	
Charl	es Blalock & Sons,	Inc.	ALL	60,000.00	60,000.00
Inland	d Construction & E	quipment, In		32,492.13	32,492.13
ENG	INEER'S ESTIMAT	TE .		5,000.00	5,000.00
20420-0000	CUYD	EMBANKMENT CON	STRUCTION		
Charl	es Blalock & Sons,	Inc.	2,050	30.00	61,500.00
Inland	d Construction & E	quipment, In		72.46	148,543.00
ENG	INEER'S ESTIMAT	TE .		30.00	61,500.00
20801-0000	CUYD	STRUCTURE EXCAV	ATION		
Charl	es Blalock & Sons,	Inc.	75	150.00	11,250.00
Inland	d Construction & Ed	quipment, In		49.83	3,737.25
ENG	INEER'S ESTIMAT	TE .		25.00	1,875.00
25101-4000	CUYD	PLACED RIPRAP, CL	ASS 4		
Charl	es Blalock & Sons,	Inc.	350	80.00	28,000.00
Inland	d Construction & E	quipment, In		101.99	35,696.50
ENG	NEER'S ESTIMAT	TE		45.00	15,750.00

Date: 08/21/20

## TABULATION OF BIDS

Bid Schedule A

Project No.: BR A 151(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
30110-0000	TON	AGGREGATE SURFA	CE COURSE		
Charle	es Blalock & Soi	ns, Inc.	555	35.00	19,425.00
Inland	l Construction &	Equipment, In		161.11	89,416.05
ENGI	NEER'S ESTIM	ATE		30.00	16,650.00
55201-0200	CUYD	STRUCTURAL CONC	RETE, CLASS A (AE)		
Charle	es Blalock & So	ns, Inc.	75	800.00	60,000.00
Inland	l Construction &	Equipment, In		862.20	64,665.00
ENGI	NEER'S ESTIM	ATE		600.00	45,000.00
55201-0800	CUYD	STRUCTURAL CONC	RETE, CLASS D (AE)		
Charle	es Blalock & Soi	ns, Inc.	50	800.00	40,000.00
Inland	l Construction &	Equipment, In		862.20	43,110.00
ENGI	NEER'S ESTIM	ATE		600.00	30,000.00
55302-0200	LNFT	PRECAST, PRESTRES	SED CONCRETE SLAB	S, 36" NON-VOIDED	)
Charle	es Blalock & Soi	ns, Inc.	720	185.00	133,200.00
Inland	l Construction &	Equipment, In		289.47	208,418.40
ENGI	NEER'S ESTIM	ATE		220.00	158,400.00
55401-1000	LB	REINFORCING STEEI			
Charle	es Blalock & Soi	ns, Inc.	7,422	0.80	5,937.60
Inland	l Construction &	Equipment, In		1.22	9,054.84
ENGI	NEER'S ESTIM	ATE		1.40	10,390.80
55401-2000	LB	REINFORCING STEEI	L, EPOXY COATED		
Charle	es Blalock & Soi		9,153	1.00	9,153.00
Inland	l Construction &	Equipment, In		1.37	12,539.61
ENGI	NEER'S ESTIM	ATE		2.00	18,306.00
55601-1300	LNFT	BRIDGE RAILING, TI	MBER		
Charle	es Blalock & So	ns, Inc.	250	195.00	48,750.00
	Construction &			121.26	30,315.00
ENGI	NEER'S ESTIM	ATE		100.00	25,000.00
56401-1000	EACH	BEARING DEVICE, E	LASTOMERIC (PLAIN)		
Charle	es Blalock & Soi	ns, Inc.	36	200.00	7,200.00
Inland	l Construction &	Equipment, In		97.55	3,511.80
ENGI	NEER'S ESTIM	ATE		50.00	1,800.00

Date: 08/21/20

## TABULATION OF BIDS

Bid Schedule A

Project No.: BR A 151(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
56501-0300	LNFT	DRILLED SHAFTS,	30-INCH DIAMETER		
Chai	les Blalock & Sons	, Inc.	138	455.00	62,790.00
Inlar	nd Construction & F	Equipment, In		862.96	119,088.48
ENC	SINEER'S ESTIMA	TE		700.00	96,600.00
56501-0600	LNFT	DRILLED SHAFTS,	48-INCH DIAMETER		
Char	les Blalock & Sons	, Inc.	84	700.00	58,800.00
Inlar	nd Construction & F	Equipment, In		1,650.87	138,673.08
ENC	GINEER'S ESTIMA	TE		1,000.00	84,000.00
62401-0100	SQYD	FURNISHING AND	PLACING TOPSOIL, 2-IN	ICH DEPTH	
Char	les Blalock & Sons	, Inc.	250	10.00	2,500.00
Inlar	nd Construction & E	Equipment, In		9.00	2,250.00
ENC	SINEER'S ESTIMA	TE		8.75	2,187.50
62502-0000	SQYD	TURF ESTABLISHM	ENT		
Char	les Blalock & Sons	, Inc.	250	3.00	750.00
Inlar	nd Construction & E	Equipment, In		6.00	1,500.00
ENC	GINEER'S ESTIMA	TE		3.50	875.00
62525-0000	MGAL	WATER (1000 GAL	PER MGAL)		
Char	les Blalock & Sons	, Inc.	1.82	10.00	18.20
Inlar	nd Construction & E	Equipment, In		2,701.42	4,916.58
ENC	SINEER'S ESTIMA	TE		200.00	364.00
62901-1100	SQYD	ROLLED EROSION	CONTROL PRODUCT, T	YPE 4	
Char	les Blalock & Sons	, Inc.	120	6.00	720.00
Inlar	nd Construction & F	Equipment, In		6.00	720.00
ENC	GINEER'S ESTIMA	TE		7.50	900.00
63304-0900	SQFT	SIGNS, ALUMINUM	PANELS, TYPE 3 SHEE	ΓING	
Char	les Blalock & Sons	, Inc.	20	25.00	500.00
Inlar	nd Construction & E	Equipment, In		36.02	720.40
ENC	GINEER'S ESTIMA	TE		80.00	1,600.00
63308-3000	EACH	OBJECT MARKER,	ГҮРЕ 3		
Char	les Blalock & Sons	, Inc.	4	500.00	2,000.00
	nd Construction & F			142.58	570.32
ENC	GINEER'S ESTIMA	TE		100.00	400.00

Date: 08/21/20

## TABULATION OF BIDS

Bid Schedule A

Project No.: BR A 151(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
63502-0600	EACH	TEMPORARY TRAFF	IC CONTROL, BARRIC	ADE TYPE 3	
Charle	s Blalock & Sons	, Inc.	4	500.00	2,000.00
Inland	Construction & I	Equipment, In		262.64	1,050.56
ENGI	NEER'S ESTIMA	TE		350.00	1,400.00
63504-1000	SQFT	TEMPORARY TRAFF	IC CONTROL, CONSTR	RUCTION SIGN	
Charle	s Blalock & Sons	, Inc.	55	20.00	1,100.00
Inland	Construction & I	Equipment, In		39.02	2,146.10
ENGI	NEER'S ESTIMA	TE		20.00	1,100.00
63701-0000	EACH	FIELD OFFICE -CELL	PHONES AND SERVICE	CE ONLY	
Charle	s Blalock & Sons	, Inc.	1	3,500.00	3,500.00
Inland	Construction & I	Equipment, In		3,301.74	3,301.74
ENGI	NEER'S ESTIMA	TE		2,500.00	2,500.00

Bid Schedule A

Project No.: BR A 151(1)

Project Name: CATOOSA - OBED RIVER BRIDGE (POTTER FORD ROAD)

#### BID TOTAL CHECK PASS

Date: 08/21/20

Bidder	Bidder's Bid Amount	Computed Bid Amount	Error
Charles Blalock & Sons, Inc.	1,024,553.80	1,024,553.80	
Inland Construction & Equipment, In	1,172,289.82	1,172,289.82	

The apparent low bidder is 31 % above the engineer's estimate.

Bid Schedule A

Project No.: BR A 151(1)

Project Name: CATOOSA - OBED RIVER BRIDGE (POTTER FORD ROAD)

BID ITEM CHECK PASS

Date: 08/21/20

Bidder	Item No.	Bidder's Extension	Computed Extension
--------	----------	-----------------------	--------------------

No extension errors in this Schedule.

Bid Schedule - Option A Project No.: BR A 153(1)

Project Name: CATOOSA - DADDY'S CREEK BRIDGE (OTTER CREEK ROAD)

State:TNOpened at:Sterling, VACounty:CUMBERLANDBy:S. AndersonTENNESSEE WILDLIFE RESOURCESDate:08/21/09

I certify that this Bid Tabulation accurately	y reflects the bids received an	nd publicly opened for this solicitation.
Signed: Shirley A	Anderson	
Title: Contract	t Specialist	Date: 08/26/2009
Contract Awarded to:		Date:

Contractor	Bid Amount	Responsive
Charles Blalock & Sons, Inc. 1225 Parkway Sevierville, TN 37862	1,095,494.40	
Inland Construction & Equipment, In 309 East 11th Street Panama City, FL 32401	1,238,706.19	
Engineer's Estimate	760,000.00	

## TABULATION OF BIDS

Date: 08/24/20

Bid Schedule - Option A Project No.: BR A 153(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15101-0000	LPSM	MOBILIZATION			
Charle	es Blalock & Sor	ns, Inc.	ALL	100,000.00	100,000.00
Inland	Construction &	Equipment, In		133,627.19	133,627.19
ENGI	NEER'S ESTIM	ATE		37,643.15	37,643.15
15201-0000	LPSM	CONSTRUCTION SUR	VEY AND STAKING		
Charle	es Blalock & So	ns, Inc.	ALL	60,000.00	60,000.00
Inland	Construction &	Equipment, In		16,032.28	16,032.28
ENGI	NEER'S ESTIM	ATE		17,000.00	17,000.00
15401-0000	LPSM	CONTRACTOR TESTI	NG		
Charle	es Blalock & Son	ns, Inc.	ALL	60,000.00	60,000.00
Inland	Construction &	Equipment, In		22,370.62	22,370.62
ENGI	NEER'S ESTIM	ATE		17,000.00	17,000.00
15401-0000	LPSM	CONTRACTOR TESTI	NG (MALACOLOGIS	Т)	
Charle	es Blalock & Soi	ns, Inc.	ALL	12,000.00	12,000.00
Inland	Construction &	Equipment, In		5,219.81	5,219.81
ENGI	NEER'S ESTIM	ATE		10,000.00	10,000.00
15702-2000	LPSM	SOIL EROSION CONT	ROL, TURBIDITY MO	ONITORING	
Charle	es Blalock & Soi	ns, Inc.	ALL	8,000.00	8,000.00
Inland	Construction &	Equipment, In		4,026.71	4,026.71
ENGI	NEER'S ESTIM	ATE		10,000.00	10,000.00
15703-2000	ACRE	SOIL EROSION CONT	ROL, TEMPORARY T	URF ESTABLISHMEN	NT
Charle	es Blalock & Soi	ns, Inc.	0.08	15,000.00	1,200.00
Inland	Construction &	Equipment, In		4,026.71	322.14
ENGI	NEER'S ESTIM	ATE		7,500.00	600.00
15705-0100	LNFT	SOIL EROSION CONT	ROL, SILT FENCE		
Charle	es Blalock & Soi		810	8.00	6,480.00
Inland	Construction &	Equipment, In		4.47	3,620.70
ENGI	NEER'S ESTIM	ATE		12.00	9,720.00
15705-1800	LNFT	SOIL EROSION CONT	ROL, TEMPORARY D	DIVERSION BERM	
Charle	es Blalock & Soi	ns, Inc.	292	375.00	109,500.00
Inland	Construction &	Equipment, In		29.83	8,710.36
ENGI	NEER'S ESTIM	ATE		80.00	23,360.00

Date: 08/24/20

Bid Schedule - Option A Project No.: BR A 153(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15705-2000	LNFT	SOIL EROSION CON	TROL, TURBIDITY BA	RRIER	
Charle	es Blalock & Son	s, Inc.	210	100.00	21,000.00
Inland	d Construction &	Equipment, In		24.61	5,168.10
ENGI	NEER'S ESTIMA	ATE		23.50	4,935.00
15706-2200	EACH	SOIL EROSION CON	TROL, FILTER BAG		
	es Blalock & Son		2	4,000.00	8,000.00
Inland	d Construction &	Equipment, In		1,342.24	2,684.48
ENGI	NEER'S ESTIMA	ATE		1,500.00	3,000.00
20103-0000	SQYD	CLEARING AND GR	UBBING		
Charle	es Blalock & Son	s, Inc.	410	10.00	4,100.00
Inland	d Construction &	Equipment, In		2.24	918.40
ENGI	NEER'S ESTIMA	ATE		8.00	3,280.00
20303-2300	SQYD	REMOVAL OF PAVE	EMENT, CONCRETE		
Charle	es Blalock & Son	s, Inc.	110	10.00	1,100.00
Inland	l Construction &	Equipment, In		70.09	7,709.90
ENGI	NEER'S ESTIMA	ATE		30.00	3,300.00
20304-1000	LPSM	REMOVAL OF STRU	JCTURES AND OBSTRU	UCTIONS	
Charle	es Blalock & Son	s, Inc.	ALL	95,000.00	95,000.00
Inland	d Construction &	Equipment, In		32,288.27	32,288.27
ENGI	NEER'S ESTIMA	ATE		10,000.00	10,000.00
20420-0000	CUYD	EMBANKMENT CO	NSTRUCTION		
Charle	es Blalock & Son	s, Inc.	1,850	40.00	74,000.00
Inland	l Construction &	Equipment, In		77.61	143,578.50
ENGI	NEER'S ESTIMA	ATE		30.00	55,500.00
20801-0000	CUYD	STRUCTURE EXCA	VATION		
Charle	es Blalock & Son	s, Inc.	75	150.00	11,250.00
Inland	d Construction &	Equipment, In		49.51	3,713.25
ENGI	NEER'S ESTIMA	ATE		25.00	1,875.00
21101-1000	SQYD	ROADWAY OBLITE	RATION, METHOD 1		
Charle	es Blalock & Son	s, Inc.	195	10.00	1,950.00
	l Construction &			165.58	32,288.10
ENGI	NEER'S ESTIMA	ATE		12.00	2,340.00

Date: 08/24/20

## TABULATION OF BIDS

Bid Schedule - Option A Project No.: BR A 153(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
25101-4000	CUYD	PLACED RIPRAP, CLA	ASS 4		
Charles Blalock & Sons, Inc.			270	80.00	21,600.00
Inlar	nd Construction & E	quipment, In		119.62	32,297.40
ENG	SINEER'S ESTIMA	ТЕ		45.00	12,150.00
30110-0000	TON	AGGREGATE SURFA	CE COURSE		
Char	les Blalock & Sons,	, Inc.	340	35.00	11,900.00
	nd Construction & E	* *		246.25	83,725.00
ENG	SINEER'S ESTIMA	TE		30.00	10,200.00
55201-0200	CUYD	STRUCTURAL CONC	RETE, CLASS A (AE)		
Char	les Blalock & Sons,	Inc.	75	800.00	60,000.00
Inlar	nd Construction & E	quipment, In		856.79	64,259.25
ENG	SINEER'S ESTIMA	ТЕ		600.00	45,000.00
55201-0800	CUYD	STRUCTURAL CONC	RETE, CLASS D (AE)		
Char	les Blalock & Sons	Inc.	62	800.00	49,600.00
Inlar	nd Construction & E	quipment, In		856.79	53,120.98
ENG	SINEER'S ESTIMA	TE		600.00	37,200.00
55302-0200	LNFT	PRECAST, PRESTRES	SED CONCRETE SLABS	S, 36" NON-VOIDED	)
Char	les Blalock & Sons	Inc.	900	185.00	166,500.00
Inlar	nd Construction & E	quipment, In		284.19	255,771.00
ENG	SINEER'S ESTIMA	ТЕ		220.00	198,000.00
55401-1000	LB	REINFORCING STEEI	٠		
Char	les Blalock & Sons	Inc.	7,154	0.80	5,723.20
Inlar	nd Construction & E	quipment, In		1.21	8,656.34
ENG	SINEER'S ESTIMA	TE		1.40	10,015.60
55401-2000	LB	REINFORCING STEEI	L, EPOXY COATED		
Char	les Blalock & Sons	Inc.	10,318	1.00	10,318.00
Inlar	nd Construction & E	quipment, In		1.36	14,032.48
ENG	SINEER'S ESTIMA	ТЕ		2.00	20,636.00
55601-1300	LNFT	BRIDGE RAILING, TI	MBER		
Char	les Blalock & Sons		310	195.00	60,450.00
	nd Construction & E			107.28	33,256.80
	INEER'S ESTIMA			100.00	31,000.00

## TABULATION OF BIDS

Date: 08/24/20

Bid Schedule - Option A Project No.: BR A 153(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
56401-1000	EACH	BEARING DEVICE, E	LASTOMERIC (PLAIN)		
Charle	s Blalock & Sons,	Inc.	36	200.00	7,200.00
Inland	Construction & E	quipment, In		96.94	3,489.84
ENGI	NEER'S ESTIMA	ΓΕ		50.00	1,800.00
56501-0300	LNFT	DRILLED SHAFTS, 30	)-INCH DIAMETER		
Charle	s Blalock & Sons,	Inc.	126	455.00	57,330.00
Inland	Construction & E	quipment, In		857.54	108,050.04
ENGI	NEER'S ESTIMA	ГЕ		700.00	88,200.00
56501-0600	LNFT	DRILLED SHAFTS, 48	8-INCH DIAMETER		
Charle	s Blalock & Sons,	Inc.	86	700.00	60,200.00
Inland	Construction & E	quipment, In		1,640.51	141,083.86
ENGI	NEER'S ESTIMA	ГЕ		1,000.00	86,000.00
62401-0100	SQYD	FURNISHING AND P	LACING TOPSOIL, 2-IN	CH DEPTH	
Charle	s Blalock & Sons,	Inc.	405	10.00	4,050.00
Inland	Construction & E	quipment, In		8.95	3,624.75
ENGI	NEER'S ESTIMA	ГЕ		8.75	3,543.75
62502-0000	SQYD	TURF ESTABLISHME	ENT		
Charle	s Blalock & Sons,	Inc.	405	3.00	1,215.00
Inland	Construction & E	quipment, In		5.97	2,417.85
ENGI	NEER'S ESTIMA	ГЕ		3.50	1,417.50
62525-0000	MGAL	WATER (1000 GAL P	ER MGAL)		
Charle	s Blalock & Sons,	Inc.	2.82	10.00	28.20
Inland	Construction & E	quipment, In		2,684.47	7,570.21
ENGI	NEER'S ESTIMA	ГЕ		200.00	564.00
63304-0900	SQFT	SIGNS, ALUMINUM	PANELS, TYPE 3 SHEET	ΓING	
Charle	es Blalock & Sons,	Inc.	20	25.00	500.00
Inland	Construction & E	quipment, In		35.79	715.80
ENGI	NEER'S ESTIMA	ГЕ		80.00	1,600.00
63308-3000	EACH	OBJECT MARKER, T	YPE 3		
Charle	s Blalock & Sons,	Inc.	4	500.00	2,000.00
Inland	Construction & E	quipment, In		141.68	566.72
ENGI	NEER'S ESTIMA	ГЕ		100.00	400.00

## TABULATION OF BIDS

Date: 08/24/20

Bid Schedule - Option A Project No.: BR A 153(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
63502-0600	EACH	TEMPORARY TRAFF	IC CONTROL, BARRICA	ADE TYPE 3	
Charle	es Blalock & Sons	s, Inc.	4	500.00	2,000.00
Inland Construction & Equipment, In				260.99	1,043.96
ENGINEER'S ESTIMATE				350.00	1,400.00
63502-1500	EACH	TEMPORARY TRAFF	IC CONTROL, WARNIN	IG LIGHT TYPE A	
Charle	es Blalock & Sons	s, Inc.	4	100.00	400.00
Inland Construction & Equipment, In				250.00	1,000.00
ENGINEER'S ESTIMATE				105.00	420.00
63504-1000	SQFT	TEMPORARY TRAFF	IC CONTROL, CONSTR	UCTION SIGN	
Charles Blalock & Sons, Inc. 45			45	20.00	900.00
Inland Construction & Equipment, In				38.78	1,745.10
ENGI	NEER'S ESTIMA	TE		20.00	900.00

Bid Schedule - Option A Project No.: BR A 153(1)

Project Name: CATOOSA - DADDY'S CREEK BRIDGE (OTTER CREEK ROAD)

#### BID TOTAL CHECK PASS

Date: 08/24/20

Bidder	Bidder's Bid Amount	Computed Bid Amount	Error
Charles Blalock & Sons, Inc.	1,095,494.40	1,095,494.40	
Inland Construction & Equipment, In	1,238,706.19	1,238,706.19	

The apparent low bidder is 44 % above the engineer's estimate.

Bid Schedule - Option A Project No.: BR A 153(1)

Project Name: CATOOSA - DADDY'S CREEK BRIDGE (OTTER CREEK ROAD)

#### BID ITEM CHECK PASS

Date: 08/24/20

Bidder	Item No.	Bidder's Extension	Computed Extension
		Extension	Extension

No extension errors in this Schedule.